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Integration

Jsinxdw— —coszT +c¢
Jcosxdac: sinx + ¢
ftanxdmz In|secx| + ¢
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Integration

Jsinxdw— —cosT + ¢

Jcosxdac: sinx + ¢

ftanxdmz In|secx| + ¢
Jcosecxda@ = In|cosecx — cot x| + ¢

JseC$dx = In|secz + tanz| + ¢

Jcotxdx —
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Integration

J sin x dx
J cosx dx
ftan xdz
J cosec z dx
J sec x dx
J cot x dz

—cosx + ¢

sinz + ¢

In|secx| + ¢

In [cosecx — cot z| + ¢
In |secz + tanz| + ¢

In|sinz| + ¢
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Squares and Cubes
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Squares and Cubes

14%2 = 196 83 = 512
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Squares and Cubes

14%2 = 196 83 = 512

162 = 256

Dr Oliver A2 Mathematics: Revision Questions 2



Squares and Cubes

14%2 = 196 83 = 512
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Squares and Cubes

14%2 = 196 83 = 512

162 = 256 43 = 64
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Squares and Cubes

14%2 = 196 83 = 512
162 = 256 43 = 64
—-19? =
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Squares and Cubes

14%2 = 196 83 = 512
162 = 256 43 = 64
—192 = —361
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Squares and Cubes

14%2 = 196 83 = 512
162 = 256 43 = 64
—192 = —361 (—5)% =
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Squares and Cubes

14%2 = 196 83 = 512
162 = 256 43 = 64
—192 = —361 (—=5)3 = —125
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Modelling Assumptions

1. What is the consequence of modelling an object as a rod?
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Modelling Assumptions

1. What is the consequence of modelling an object as a rod?
The mass of the object is distributed along a straight line. It
also means that the object is considered to be rigid.
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also means that the object is considered to be rigid.

2. What is the consequence of modelling an object as a particle?
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1. What is the consequence of modelling an object as a rod?
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also means that the object is considered to be rigid.
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The mass of the object can be considered to be concentrated at

a single point.

Dr Oliver A2 Mathematics: Revision Questions 2



Modelling Assumptions

1. What is the consequence of modelling an object as a rod?
The mass of the object is distributed along a straight line. It
also means that the object is considered to be rigid.

2. What is the consequence of modelling an object as a particle?
The mass of the object can be considered to be concentrated at
a single point.
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Modelling Assumptions

1. What is the consequence of modelling an object as a rod?
The mass of the object is distributed along a straight line. It
also means that the object is considered to be rigid.

2. What is the consequence of modelling an object as a particle?
The mass of the object can be considered to be concentrated at
a single point.

3. What is a wire?
A rigid thin length of metal.
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Kinematic Equations

1. Which kinematic equation involves only a, s, ¢, and v?
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Kinematic Equations

1. Which kinematic equation involves only a, s, ¢, and v?

s = vt — %atQ
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Kinematic Equations

1. Which kinematic equation involves only a, s, ¢, and v?

s = vt — %atQ

2. Which kinematic equation involves only s, t, u, and v?
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Kinematic Equations

1. Which kinematic equation involves only a, s, ¢, and v?

s = vt — %atQ

2. Which kinematic equation involves only s, t, u, and v?

s=3(u+v)t
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Kinematic Equations

1. Which kinematic equation involves only a, s, ¢, and v?

s = vt — %atQ

2. Which kinematic equation involves only s, t, u, and v?

s=3(u+v)t

3. Which kinematic equation involves only a, t, u, and v?

v=u-+at
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Trigonometric Identities

sin(A — B)
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Trigonometric Identities

sin(A — B) = sin Acos B — sin B cos A
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Trigonometric Identities

sin(A — B) = sin Acos B — sin B cos A

cos(A — B)
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Trigonometric Identities

sin(A — B) = sin Acos B — sin B cos A

cos(A — B) = cos Acos B + sin Asin B
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Trigonometric Identities

sin(A — B) = sin Acos B — sin B cos A

cos(A — B) = cos Acos B + sin Asin B

tan(A + B)
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Trigonometric Identities

sin(A — B) = sin Acos B — sin B cos A

cos(A — B) = cos Acos B + sin Asin B

tan A + tan B
tan(A + B) =
an(4 + B) 1 —tanAtan B
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A Calculus Miscellany

Jf’(x)ef(x) dx
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How do I integrate ...7

Jlnxdm
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How do I integrate ...7
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How do I integrate ...7

Jlnxdm = J(l x Inz)dx
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How do I integrate ...7

Jlnxdm = J(l x Inz)dx

u=Inx ;Z—Uzl
w1 "
dr =«
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How do I integrate ...7

Jlnxdm = J(l x Inz)dx

zzlnx—fldx

=zlnr—z+c
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1. What is the range of the function?
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1. What is the range of the function?

{f(x) eR:0 < f(z) < 25}
2. Does this function have an inverse: yes or no?

Yes.
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1. What is the range of the function?

{f(x) eR:0 < f(z) < 25}
2. Does this function have an inverse: yes or no?
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3. What is the equation of the inverse function?
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{f(x) eR:0 < f(z) < 25}
2. Does this function have an inverse: yes or no?
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1. What is the range of the function?

{f(x) eR:0 < f(z) < 25}
2. Does this function have an inverse: yes or no?
Yes.
3. What is the equation of the inverse function?
7Y w) = —vE

4. What is the domain of the inverse function?
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1. What is the range of the function?

{f(x) eR:0 < f(z) < 25}
2. Does this function have an inverse: yes or no?
Yes.
3. What is the equation of the inverse function?
f @) = —va
4. What is the domain of the inverse function?

{reR:0<x <25}
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1. What is the range of the function?

{f(x) eR:0 < f(z) < 25}
2. Does this function have an inverse: yes or no?
Yes.
3. What is the equation of the inverse function?
f @) = —va
4. What is the domain of the inverse function?
{reR:0<x <25}

5. What is the range of the inverse function?
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1. What is the range of the function?

{f(x) eR:0 < f(z) < 25}
2. Does this function have an inverse: yes or no?
Yes.
3. What is the equation of the inverse function?
f @) = —v/3
4. What is the domain of the inverse function?
{reR:0<x <25}
5. What is the range of the inverse function?

{(f Y z)eR: —5< f(z) <0}
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Trigonometric Solutions

1. Find the value or values of a, 0 < a < 360, a # 247 such that
sin 247° = sina®.
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Trigonometric Solutions

1. Find the value or values of a, 0 < a < 360, a # 247 such that
sin 247° = sina®.
a = 540 — 247 = 293

2. Find the value or values of b, 0 < b < 360, b # 128 such that
cos 128° = cos b°.
b =360 — 128 = 232

3. Find the value or values of ¢, 0 < ¢ < 2w, ¢ # %’r such that

tan %” = tanc.
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Trigonometric Solutions

1. Find the value or values of a, 0 < a < 360, a # 247 such that
sin 247° = sina®.
a = 540 — 247 = 293

2. Find the value or values of b, 0 < b < 360, b # 128 such that
cos 128° = cos b°.

b = 360 — 128 = 232

3. Find the value or values of ¢, 0 < ¢ < 2w, ¢ # %’r such that
tan %” = tanc.
C = 3 + 7T =
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